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Q.1 Select the correct alternative:
(1) National Standards for ambient air quality are not defined for this location. (10)

(a) Residential (b) Forest (c) Sensitive (d) Industrial

(2) Who is currently the Minister for Environment and Forests ?
(a) Sushma Swaraj (b) Prakash Javdekar
(c) Arun Jaitley (d) Narendra Modi

(3) Which of these constituents of chemical fertilizers is totally imported in 
India?
(a) Potash    (b) Nitrogen    (c) Phosphorus (d) Urea

(4) What is the name of the river Tsang Po in India ?
(a) Sutlej    (b) Godavari    (c) Brahmaputra (d) Chenab

(5) This is a characteristic of the Indian economy.
(a) Rural Employment (b) Over-Urbanization
(c) Pseudo Urbanization (d) Urban Poverty

(6) This gas is the cause of air pollution.
(a) Ozone (b) Nitrogen (c) Carbon (d) Sulpher Dioxide

(7) Air pollution can be reduced with the help of this fuel.
(a) Petrol (b) Diesel (c) CNG (d) Coal

(8) The construction of big dams damages.
(a) Water (b) Air (c) Forests (d) Ground Water

(9) This is perennial river.
(a) Saraswati (b) Yamuna     (c) Sabarmati (d) Meshwo

(10) This harmful gas ...................... is generated in the agricultural sector.
(a) CO2 (b) Methane  (c) CO (d) NO2

Q.2 State the standards of ambient air quality in India. Who fixes these (15) 
standards? Discuss in detail, the locations and sources of air pollution in 
India.

OR

Q.2 How can households contribute towards reducing environmental 
pollution by changing their lifestyle?



Q.3 Explain the linkages between urbanization and environmental pollution (15) 
and examine the policy response to urban pollution.

OR
Q.3 What are the causes for land pollution and degradation in India ? What 

changes are required in agricultural, residential and industrial practices 
for the conservation of land?

Q.4 What is the impact of chemical fertilizer and pesticide use on the (15) 
environment and the people of India?

OR
Q.4 What is the extent and development of forest resources in India? Bring 

out the importance of the forest sector in the economy.

Q.5 Write a detailed note about environmental problems emerging from (15) 
scarcity of water.

OR
Q.5 Write a detailed note about environmental problems that arise when 

there is abundance of water in a particular area.

NyS>fpsu sfS|>dp¡

   Ly$g NyZ : 70

â.1 kpQp¡ rhL$ë` `k„v$ L$fp¡.
(1) iyÙ lhp_p„ fprô²$e ^p¡fZp¡ Ap õ\p_ dpV¡$ ìep¿epres _\u. (10)

(A) fl¡W$pZ (b) S>„Ng (L$) k„h¡v$_iug (X$) Ap¥Ûp¡rNL$

(2) lpgdp„, `ep®hfZ A_¡ h_ d„Óu L$p¡Z R>¡ ?
(A) kyódp õhfpS> (b) âL$pi ÅhX¡$L$f (L$) Aê$Z S>¡V$gu (X$) _f¡ÞÖ dp¡v$u

(3) fpkperZL$ Mpsfp¡_p„ OV$L$p¡dp„\u L$ey„ OV$L$ v$¡idp„ k„`|Z®`Z¡ Apeps L$fhpdp„ Aph¡ R>¡ ?
(A) `p¡V$pi (b) _pCV²$p¡S>_ (L$) ap¡õafk (X$) eyfuep

(4) Ðkp„N `p¡ _v$u_¡ cpfsdp„ iy„ L$l¡ R>¡ ?
(A) ksgS> (b) Np¡v$phfu (L$) b°û`yÓ (X$) Q¡_pb

(5) Ap cpfsue A\®s„Ó_y„ gnZ R>¡.
(A) N°pduZ fp¡S>Npfu (b) Ars-il¡fuL$fZ
(L$) _L$gu il¡fuL$fZ (L$) il¡fu Nfubu

(6) Ap hpey âv|$jZ_y„ L$pfZ R>¡.
(A) Ap¡Tp¡_   (b) _pCV²$p¡S>_ (L$) L$pb®_ (X$) këaf X$pep¡¼kpCX$



(7) Ap I^Z_u dv$v$\u hpey âv|$jZ Ap¡Ry>„ L$fu iL$pe R>¡.
(A) `¡V²$p¡g (b) X$uTg (L$) ku.A¡_.Æ. (X$) L$p¡gkp¡

(8) dp¡V$p b„^p¡ bp„^hp\u Ap_¡ _yL$kp_ \pe R>¡.
(A) `pZu (b) lhp (L$) S>„Ng (X$) c|Nc®S>m

(9) Ap bpfdpku _v$u R>¡.
(A) kfõhsu   (b) edy_p (L$) kpbfdsu (X$) d¡ðp¡

(10) Ap lpr_L$pfL$ hpey L©$rjn¡Ódp„ DÐ`ß \pe R>¡.
(A) CO2 (b) rd\¡_ (L$) CO (X$) NO2

â.2 cpfsdp„ iyÙ lhp_p„ dp_L$p¡ v$ip®hp¡. Ap ^p¡fZp¡ L$p¡Z r_ròs L$f¡ R>¡ ? cpfsdp„ lhp (15)
âv|$jZ_p„ õ\p_p¡ s\p ÷p¡sp¡_u rhõs©s QQp® L$fp¡.

A\hp
â.2 Ly$Vy„$bp¡ `p¡sp_u Æh_`Ùrsdp„ a¡fapf L$fu_¡ L¡$hu fus¡ `ep®hfZue âv|$jZ Ap¡Ry>„ L$fu iL¡$ R>¡?

â.3 il¡fuL$fZ A_¡ `ep®hfZue âv|$jZ hÃQ¡_p„ spZp„hpZp„ kdÅhp¡ A_¡ il¡fu âv|$jZ (15)
kpd¡_p„ _ursrhjeL$ ârscphp¡_u kdunp L$fp¡.

A\hp
â.3 cpfsdp„ S>du__p„ bNpX$ A_¡ âv|$jZ dpV¡$_p„ L$pfZp¡ iy„ R>¡ ? L©$rj, fl¡W$pZ A_¡ DÛp¡Np¡ 

sfa\u S>du_ k„fnZ dpV¡$ L¡$hu fuscpsp¡ rhL$kphhp_u S>ê$f R>¡ ?

â.4 fpkperZL$ Mpsfp¡ A_¡ S>„sy_piL$ v$hpAp¡_p¡ cpfsdp„ `ep®hfZ A_¡ gp¡L$p¡ `f iy„ âcph (15)
`X¡$ R>¡ ?

A\hp
â.4 cpfsdp„ S>„Ngp¡_y„ âdpZ A_¡ rhL$pk L¡$hp¡ R>¡? A\®s„Ódp„ h_p¡_y„ dlÒh õ`ô$ L$fp¡.

â.5 `pZu_u AR>s_¡ L$pfZ¡ Dv¹$chsp `ep®hfZue âñp¡ rhi¡ rhNshpf _p¢^ gMp¡. (15)
A\hp

â.5 L$p¡C A¡L$ rhõspfdp„ `pZu_u rh`ygsp lp¡e Ðepf¡ DÐ`ß \sp„ `ep®hfZue âñp¡ rhi¡ 
rhõs©s _p¢^ gMp¡.

* * *


